

سوال 11) جو حل کرنا ہے

$$\begin{bmatrix} 2 & 1 & -3 & | & 4 \\ -1 & 2 & 5 & | & 2 \\ 1 & 4 & K^2-14 & | & K+2 \end{bmatrix} \xrightarrow{R_1 \leftrightarrow R_2} \begin{bmatrix} -1 & 2 & 5 & | & 2 \\ 2 & 1 & -3 & | & 4 \\ 1 & 4 & K^2-14 & | & K+2 \end{bmatrix} \xrightarrow{\substack{2R_1+R_2 \\ R_1+R_2 \times 10}} \begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & K^2-16 & | & K-4 \end{bmatrix}$$

$$\begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 7 & K^2-9 & | & K+4 \end{bmatrix} \xrightarrow{-R_2+R_3} \begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & K^2-16 & | & K-4 \end{bmatrix}$$

$$\begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & (K-4)(K+4) & | & K-4 \end{bmatrix}$$

$K=4$

$$\begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & 0 & | & 0 \end{bmatrix}$$

3 سزوں کا
3 سزوں کا

$K=-4$

$$\begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & 0 & | & -8 \end{bmatrix}$$

$K \neq 4, K \neq -4$

$$\begin{bmatrix} -1 & 3 & 5 & | & 2 \\ 0 & 7 & 7 & | & 8 \\ 0 & 0 & 1 & | & \frac{1}{K+4} \end{bmatrix} \Rightarrow 3 \text{ سزوں کا}$$

2) $B^{-1} = \frac{P(B)}{\det B}$

$$P(B) = \begin{bmatrix} +15 & +27 & +(-2) \\ -6 & +(-18) & -4 \\ +(-3) & +9 & +(-2) \end{bmatrix}^T = \begin{bmatrix} 15 & -6 & -3 \\ 27 & -18 & 9 \\ -2 & -4 & -2 \end{bmatrix}$$

$$\det B = 2 \begin{vmatrix} 4 & -6 \\ 2 & -3 \end{vmatrix} - 3 \begin{vmatrix} 1 & -1 \\ -4 & 2 \end{vmatrix} \\ = 2(3 + 12) - 3(2 - 4) = 30 + 6 = 36 \neq 0 \quad \underline{\underline{3}}$$

$$B^{-1} = \frac{1}{36} \begin{bmatrix} 15 & -6 & -3 \\ 27 & -18 & 9 \\ -2 & -4 & -2 \end{bmatrix} \quad \underline{\underline{3}}$$

$$4I_3 - B^{-1} = \begin{bmatrix} 4 & 0 & 0 \\ 0 & 4 & 0 \\ 0 & 0 & 4 \end{bmatrix} - \begin{bmatrix} \frac{15}{36} & -\frac{1}{6} & -\frac{1}{12} \\ \frac{27}{36} & -\frac{1}{2} & \frac{1}{4} \\ -\frac{1}{18} & -\frac{1}{9} & -\frac{1}{18} \end{bmatrix} = \begin{bmatrix} \frac{43}{12} & \frac{1}{6} & \frac{1}{12} \\ -\frac{27}{36} & \frac{5}{2} & -\frac{1}{4} \\ \frac{1}{18} & \frac{1}{9} & \frac{35}{18} \end{bmatrix}$$

$$B^T \cdot A^T = \begin{bmatrix} 2 & 1 & -4 \\ 0 & -1 & 2 \\ -3 & -6 & -3 \end{bmatrix} \begin{bmatrix} 2 & -1 & 4 \\ 0 & 5 & -2 \\ 3 & 6 & 7 \end{bmatrix} = \begin{bmatrix} -8 & -21 & -22 \\ 6 & 7 & 16 \\ -15 & -45 & -21 \end{bmatrix}$$

$$3) \begin{vmatrix} 1 & a & a^2 \\ 1 & b & b^2 \\ 1 & c & c^2 \end{vmatrix} = \begin{vmatrix} 1 & a & a^2 \\ 0 & b-a & b^2-a^2 \\ 0 & c-a & c^2-a^2 \end{vmatrix} = (b-a)(c-a) \begin{vmatrix} 1 & a & a^2 \\ 0 & 1 & b+a \\ 0 & 1 & c+a \end{vmatrix} \\ = (b-a)(c-a) \begin{vmatrix} 1 & a & a^2 \\ 0 & 1 & b+a \\ 0 & 0 & c-b \end{vmatrix} = (b-a)(c-a)(c-b) \\ = (a-b)(b-c)(c-a)$$

$$1) f(x, y, z, t) = (y-z, z-t-x, x-y+t) \quad \text{linear}$$

$$\forall u, v \in \mathbb{R}^4, \alpha(x, y, z, t) \cup (x_1, y_1, z_1, t_1), \forall \alpha \in \mathbb{R}$$

$$f(u+v) = f(x+x_1, y+y_1, z+z_1, t+t_1)$$

$$= (y+y_1 - z-z_1, z+z_1 - t-t_1 - x-x_1, x+x_1 - y-y_1 + t+t_1) \quad \underline{\underline{5}}$$

$$= (y-z, z-t-x, x-y+t) + (y_1-z_1, z_1-t_1-x_1, x_1-y_1+t_1)$$

$$= f(u) + f(v)$$

$$f(\alpha u) = f(\alpha x, \alpha y, \alpha z, \alpha t) = (\alpha y - \alpha z, \alpha z - \alpha t - \alpha x, \alpha x - \alpha y + \alpha t)$$

$$= \alpha(y-z, z-t-x, x-y+t) = \alpha f(u)$$

$$\text{Kern } f = \{u \mid u \in \mathbb{R}^4, f(u) = 0_{\mathbb{R}^3}\}$$

$$f(u) = (y-3, 3-t-x, x-y+t) = (0, 0, 0)$$

$$y-3=0$$

$$3-t-x=0$$

$$x-y+t=0$$

$$\begin{bmatrix} 0 & 1 & -1 & 0 \\ -1 & 0 & 1 & -1 \\ 1 & -1 & 0 & 1 \end{bmatrix} \rightsquigarrow \begin{bmatrix} 1 & -1 & 0 & 1 \\ -1 & 0 & 1 & -1 \\ 0 & 1 & -1 & 0 \end{bmatrix}$$

$$\begin{bmatrix} 1 & -1 & 0 & 1 \\ 0 & -1 & 1 & 0 \\ 0 & 1 & -1 & 0 \end{bmatrix} \rightsquigarrow \begin{bmatrix} 1 & -1 & 0 & 1 \\ 0 & -1 & 1 & 0 \\ 0 & 0 & 0 & 0 \end{bmatrix}$$

$$\text{Kern } f = \text{span} \{ (1, -1, 0, 1), (0, -1, 1, 0) \}$$

$$\dim \text{Kern } f = 2$$

$$e_1 = (1, 0, 0, 0), e_2 = (0, 1, 0, 0), e_3 = (0, 0, 1, 0), e_4 = (0, 0, 0, 1)$$

$$f(e_1) = (0, -1, 1) \quad f(e_2) = (1, 0, -1) \quad f(e_3) = (-1, 1, 0) \quad f(e_4) = (0, -1, 1)$$

$$\begin{bmatrix} 0 & 1 & -1 & 0 \\ -1 & 0 & 1 & -1 \\ 1 & -1 & 0 & 1 \end{bmatrix}^T = \begin{bmatrix} 0 & -1 & 1 \\ 1 & 0 & -1 \\ -1 & 1 & 0 \\ 0 & -1 & 1 \end{bmatrix} \rightsquigarrow \begin{bmatrix} 0 & -1 & 1 \\ 1 & 0 & -1 \\ 0 & 1 & -1 \\ 0 & -1 & 1 \end{bmatrix} \rightsquigarrow \begin{bmatrix} 0 & -1 & 1 \\ 1 & 0 & -1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix}$$

$$\text{span} \{ (0, -1, 1), (1, 0, -1) \} \quad \dim \text{Im } f = 2$$

$$\dim \text{Im } f + \dim \text{Kern } f = 4 = \dim \mathbb{R}^4$$

$$f: \mathbb{R}^4 \rightarrow \mathbb{R}^3$$

$$f(x, y) = (x+4y, 0, 3x-2y)$$

$$A = \{a_1(0, 2), a_2(1, 1)\} \quad B = \{b_1(1, 1, 0), b_2(1, 0, 1), b_3(0, 1, 1)\}$$

$$f(a_1) = f(0, 4) = (4, 0, -2) = x_1(1, 1, 0) + x_2(1, 0, 1) + x_3(0, 1, 1) \quad \text{①}$$

$$f(a_2) = f(1, 1) = (5, 0, 1) = x_1(1, 1, 0) + x_2(1, 0, 1) + x_3(0, 1, 1) \quad \text{②}$$

$$\begin{cases} 4 = x_1 + x_2 \\ 0 = x_1 + x_3 \\ -2 = x_2 + x_3 \end{cases} \Rightarrow \begin{cases} 4 = x_2 - x_3 \\ -2 = x_2 + x_3 \end{cases} \Rightarrow \begin{cases} x_2 = 2 \\ x_3 = 6 \end{cases} \Rightarrow \begin{cases} x_1 = 6 \\ y = -6 \end{cases}$$

$$\left. \begin{aligned} 5 &= x_1 + x_2 \\ 0 &= x_1 + x_3 \\ 1 &= x_2 + x_3 \end{aligned} \right\} \Rightarrow \begin{aligned} 5 &= x_2 - x_3 \\ 1 &= x_2 + x_3 \end{aligned} \Rightarrow \begin{aligned} 6 &= 2x_2 \Rightarrow x_2 = 3 \\ x_1 &= 2, x_3 = 2 \end{aligned}$$

$$M_{\mathbb{R}}^{\mathbb{R}}(f) = \begin{bmatrix} 6 & 2 \\ 2 & 3 \\ -6 & -2 \end{bmatrix}$$

$$\begin{aligned} p_{(a_1)} &= +6b_1 + 2b_2 + 0b_3 = 2 \\ p_{(a_2)} &= 2b_1 + 3b_2 + 2b_3 = \end{aligned}$$